ro

AL RS o &S 2827 i 2&S
Y ... L el | A EHHE = -
SFE |3 | 3T | ST | STE | S5 g3
F-1 M-8 nyer o 150x150 , 90CMH CH 6 0.4 2.4
P.V.C(VG2,DRF) D 100 M 18.5 0.181 [ 3.3 | 0.064| 1.2 10% | 20
D125 23.5 0.218 | 5.1 | 0.074 | 1.7 10% | 26
2.4 8.4715 2.923
QA AH| A 2¢l 82l 2¢l




DAl | S A2 e A 2 Ch Al =S T -
(Bank) tmgan o AMEZHA
93 NEE: = I = &E
F-1 M-s 08t 150x150 , 90CMH cH 6 6
P.V.C(VG2,DRF) D 100 M 18.5 |5+5+0.5+0.5+3.5+1.5+0.5+0.5+1.5
D 125 M 23.5 |5+5+5+4+3+1.5
S D 100 EA 2 2
D 125 EA 2 2
s Azl= D 100 EN 2 2
D 125 EN 2 2
P.V.C YTZ(DRF) D 125x100 EA 4 4
P.V.C 455 Z(DRF) D 100 EA 1 1
D 125 EA 2 2
=y # 24 M2 0.5 |05




[T 2477 MR ZA A= HA
A3 B2Eos
- S chel | A
g |3 | 3T | 35A
k7| VC-1210C = 2 1.76 | 3.52 | 0.37 | 0.74
A1 7 DL-S3323 = 16 1 16 0.2 3.2
Bl =2 STS A 16 0.14 | 2.24
FXIZo| STS 7H 2 0.14 | 0.28
F=Zo| STS 7H 4 0.15 | 0.6
st 450x600x5(W &) 7H 16 0.24 | 3.84
26.48 3.94
QIZAH| &HA 162l 3¢l




A2 HAI A H A B A S ST A} -
AETE] 2l M) BB AL ol 2t O|ZAH| A= 2 H A]
ol 2= HEo% o
L 74 ... ... = A EHE8 2
aFg | 35 | 3T | A
= 2HL-TYPE) D15 M 68 0.031 | 2.108 | 0.031 | 2.108 5%
D 20 M | 155 0.036 | 0.558 | 0.036 | 0.558 5%
D 25 M 39 0.044 | 1.716 | 0.044 | 1.716 5%
D 32 M 52 0.055 | 2.86 | 0.055 | 2.86 5%
D 40 M 77 0.061 | 4.697 | 0.061 | 4.697 5%
b 2h3 D 50 M| 778 0.248 | 19.294| 0.063 | 4.9014 5%
HISHH 4T F.D D 75 7 10 0.031 | 0.31 | 0.031 | 0.31
ol s = (& =) D 20(10KG/CM2) 7 > 0.057 | 0.114
D 25(10KG/CM2) 7 1 0.057 | 0.057
D 32(10KG/CM2) 7 4 0.057 | 0.228
D 40(10KG/CM2) 7 > 0.057 | 0.114
A 32.056 17.15
U H| A 329l 17¢l




AETHM

A A (= s .
D15 M 68 (2%16)*x2+2+2
D 20 M 15.5  |4+1.5+5+4+1
D 25 M 39 6.5+6+11.5+10.5+2+2.5
D 32 M 52 4+1.5+142.5+1 .5+4+1 .5+1+2.5+1 . 5+5+4+1+1.5+2 .5+1 .5+5+4+1+1.5+2.5+1.5
D 40 M 77 6.5+6+11.5+10.5+2+6.5+6+11.5+10.5+2+2+2
FE D 75 X1000l = 65 (6.5+6+11.5+10.5+2+2+7 .5+2+2+4 5+6+2+2)
D 100 X1000I = 51 (6.5+6+11.5+10.5+2+2+3.5+1 .5+5+2)
D 50 M 77.8 16.5+6+11.5+10.5+2+2+7+1+2+4.6+5+5.5+1+4 .6+4.6+2+2
D15 x 19t M 68 (2%16)*2+2+2
D 20 x 19t M 15.5 |4+1.5+5+4+1
D 25 x 19t M 39 6.5+6+11.5+10.5+2+2.5
D 32 x 19t M 52 4+1.5+142.5+1 .5+4+1 .5+1+2.5+1 . 5+5+4+1+1.5+2 .5+1 .5+5+4+1+1.5+2.5+1.5
D 40 x 19t M 77 6.5+6+11.5+10.5+2+6.5+6+11.5+10.5+2+2+2
= D15 EA 68 (16%2)*2+2%2
D 20 EA 6 6
D 25 EA 4 4
D 32 EA 12 12
D 40 EA 8 8
D 25 EA 1 1
D 32 EA 34 16%2+2
D 40 EA 3 142
D 65 EA 2 2
D15 EA 34 (16%1)*2+2%1
D 20 EA 8 8
D 25 EA 20 20




[NEPE] SMu BB AS 2 T{A]
93 NEE: = I = &S
D 32 EA 26 |26
D 40 EA 38 |38
BHQll & (L}A) D 50 EA 21 20
8H E|(LEAH) D 50 EA 3 142
sHEH D15 EN 204  |102%2
D 20 EN 12 |6%2
D 25 EN 11 3%2+42+1%3
D 32 VEN 126 [12%2+34%3
D 40 EN 25  [6%2+2%2+3%3
D 65 EN 6 2x3
HOolEHE(HS) D 20(10KG/CM2) 7H 2 2
D 25(10KG/CM2) 7H 1 1
D 32(10KG/CM2) 7H 4 4
D 40(10KG/CM2) 7H 2 2
= CMOtEHE] D 20(10KG/CM2) 7H 4 4
D 25(10KG/CM2) 7H 2 2
D 32(10KG/CM2) 7H 8 8
D 40(10KG/CM2) 7H 4 4
= CMBU 2 D 20(10KG/CM2) A 4 4
D 25(10KG/CM2) 7H 2 2
D 32(10KG/CM2) 7H 8 8
D 40(10KG/CM2) 7H 4 4
FE Y D 75x75 7H 16 |3+13
D 100x100 7H 7 3+4
FH 4531t D75 7H 13 [1+7+5




PREETRFNEE AS 2 T{A]
g3 NEE: = I = &=
D 100 7H 8 1+4+3
=H 905 2t D75 7H 10 |5+5
D 100 7H 2 2
FEUYE (MH)NO-HUB [D 75 TH A 94 16%3+13%2+10%2
D 100 VI 41 7%3+8%2+2%2
=& P-TRAP D 50 7H 10 |5+5
HiE =7 F.D D75 7H 10 5+5
FH C.O D75 7H 8 3+5
D 100 7H 6 3+3
LT 2|2 D 100 7H 2 2
U 7| gl D 100 7H 2 2
Zak A2| B (X 51 D15 o e 18 18
D75 VEN 10 |5+5
D 100 VE~ 2 2
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